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This question paper contains two parts A and B.

Part A is compulsory which carries 25 marks. Answer all questions in Part A.
Part B consists of 5 Units. Answer any one full question from each unit.

Each question carries 10 marks and may have a, b, ¢ as sub questions.
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Define th'é: effective address. ©

Explain about Logical and Bit Manipulation Instructions. [3]
Expiain about the purpose of Input-output interface. (2]
Explain about the two-wire control. [3]

Explain about auxiliary memory. (2]
What is a bootstrap loader? Explain about. the functions of bootstrap loader.[3]

}:,Xplam about the pu1pose of Bus Hxﬂh Enab[e pin m 8086 ! S 2l
Explain about condition. code flagiregister in 8086, % . [3]. ,,,,,,
Explain about One-byte instruction in 8086. [2]
Explain about FAR PTR and NEAR PTR assembler directive. [3]
PART-B

(50 Marks)
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a) Using a general register computer with three address instructions.

b) Using a general register computer with two address instructions. [5+5]
OR

Explain about the functions of CPU.

Explain"about Pron.ram.Control Inst»ructions. [5+5] AT

Explam about Source- mmated transfer usmo handshakmg and Destmaflon lmtlated

transfer using handshaking with a neat diagram.
A CPU with a 20-MHz clock is connected to a memory unit whose access time is
40 ns. Formulate a read and write timing diagrams using a READ strobe and a

WRITE strobe. Include the address in the timing diagram.

[5+5]

advantages and disadvantages of each? S
Explain about Intel 8089 IOP.
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A computer w5 RAM chips of 1024 x| capaci v
a) How manv chips are needed, and how shouw:d theu adcress lines be connect 1o
provide a meiory capacity of 1024 bytes?

b How many chips are neuded to pxowde a memory Lupabu) of 161\ bytes Loy
i .
’ [5+5}»’“‘-

memory 1al\mg into consideration a tag bit that indicates whcther the word is active or

inactive.
Explain about Virtual Memory with the implementation details. [5+5]

Explainabout the register organization of 8086. . : .
Iixplain about thc concept of sc(rmenlnd memmy wrth a n(,at dldﬂlam L\plam 1§ |

advantages. [5+5]
OR

Explain about addressing modes of 8686.

Explain about the functions of opcode prefetch queue in an 8086 system. [5+5]

Explain.about different instruction formats.in 8086. _

W1 iteian Assembly Lang,uaoe p[omam to peliorm on:ﬂ bytc BCD addltlon o [545

L Xpldll] about dlffcxun types of Assembler directives and opuatoxs
Write an ALP program to find transpose of a 3x3 matrix.
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